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39 a0 giEden W E1Y | T MU e | AT
YT SThish foremT &1 wer gl W eIk %8 7 foag
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Ted 71 A% IR TH A TR G oAk YogeR WE ®, O SH YR I SAfhd Y S 3TR! TaH
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TR ST T Y ererm W fRu T SwR-wre W e siferd v B sw-we 1 fRu w e 3w
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3T o |t T I SW-T9F H T & 9% A THeT & A W had SW-TAh Teieish
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1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES ORITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A or B carefully and without any omission or discrepancy at the appropriate places
in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for

rejection.

You have to enter your Roll Number on the

Test Booklet in the box provided alongside.

This Test Booklet contains 100 items (Questions). Each item is printed in Hindi and English. Each item
comprises four responses (Answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose only one response for each item.

You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the
Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the

given answers happens to be correct and there will be same penalty as above to that question.

(ii1) If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require
clarification, they can email at anubhav@nextias.com with supporting information by 4 March, 2024
(10:00 AM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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ARdE dfage & wed #, fefafaa

srforerl W faar wifsm:

. gH & Eaadal ®1 AfFER

2. fodt ot 99 = oA A fRe ot
Gl FE H AR

3.  Hufa =1 AR
g, wfa, fam a1 S M & S ER W
dgare o1 9w

ST H § fopaq s1foeR vRa # w9
GIh T TR & ANk ol Yoy B2
(a) “hed TH
(b) wad ]
(c) wHaaA o
(d) I+t =R

aRd & g AN & °ed H, FAfafea

FHg R faur Hife:

1. TTa TgH & Haled <FEEE &
=rehel & wEE < SR A Wiw
Bl B

2. AN & T o o 9l gAE SRl
1 g SARIHR Bl 2

3. HEA gE W w fEfE ww wE
gfafa g7 = S fSad gam o5,
ST Sfare Tl SR wehae o fager
EZE GRS

4,  HET TAE AGE A1 YA A AT
TR TRV T H GEI § U T hl
ety & g 95 oRo w2

Swh XU U fhar wem wet ©2

(a) I Th

(b) Haa I

(c) ad

(d) =+t =R

IR Hfagm & wed d, fefafead greemt
R fg=R Hifau:

1. founfaes 9 =maifersht a1 gereshion

2. fownfaeR & wEIaeRT ST gereRTol

3. IR ¥ =AEUIAR! Sl R

(4-A)

S | 9 fohad e T & ifd feees
Jet § et ©7

(a) oA TH

(b) Had JA

(c) 9+t @

(d) T

wFgq & fowes & ded #, fm=Afafea

HoA W fo=ar wifsu:

1. Uxufd cihas & 39 g 9 &
FERE & U eH 9 T Hft 9T =
ekl 2

2. faoed & 9” dA=mw ™ =y @
fratem o oo 18 TRl Sredr 2l

3. ATl & AT TH P TR ARAH
® WO 9fufa ® gue ofaq |
[ECRER ARSI

Sk XU U fha wem wet €2
(a) a1 3R 2
(b) e 2 3R 3
(c) o | 3R 3
(d 1,2 33

e oITed & da9 ° efaiead soh ™

foar sifaa:

. =8 far IR et <A e |
RECAR:Ci i

2. UE EEEl % HHE dfad HEel o T8l
IRECA:Ci i

3. i Aqed & i &l e e
1 ARY WA ST ® AR TE weft e
T SN Bl B

ITH § W fohad weH HeEl ©2
(a) oA Th
(b) Haa |
(c) @t I
(d) = &l
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With reference to the Constitution of India,

consider the following rights:

1.  Right to freedom of religion

2. Right to practice any profession, or to

carry on any occupation

Right to property

4.  Prohibition of discrimination on
grounds of religion, race, caste, sex or
place of birth

et

How many of the above rights are available
to a citizen of the United States living in
India?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

With reference to the Election Commission

of India, consider the following statements:

1. Election Commissioners enjoy the
same status and salary as available to
Judges of the Supreme Court.

2. All Election Commissioners have
equal say in the decision making of the
Commission.

3. Chief Election Commissioner shall be
appointed by a Selection Committee
consisting of the Prime Minister,
Union cabinet minister and Leader of
Opposition in Lok Sabha.

4.  The Chief Election Commissioner or
an Election Commissioner holds office
for a term of five years from the date
on which he assumes his office.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

With reference to the Constitution of India,

consider the following provisions:

1. Separation of judiciary from legislature

2. Separation of executive from
legislature

3. Separation of judiciary from executive

(5-A)

How many of the above provisions are
included in the Directive Principles of State
Policy?

(a) Only one

(b) Only two

(c¢) All three

(d) None

With reference to the dissolution of Lok

Sabha, consider the following statements:

1. President can dissolve the Lok Sabha
even before the completion of its five-
year term.

2. After the dissolution, Speaker does not
vacate his office till the election of a
new Speaker.

3. All bills pending before the
Parliamentary Committee of Lok
Sabha lapse after dissolution.

Which of the statements given above is/are
correct?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3 only

(d 1,2and3

Consider the following statements regarding

the Lok Adalat:

1. It can deal with both civil and criminal
cases.

2. It can not deal with the cases pending
before the courts.

3. Decision of Lok Adalat is deemed to be
a decree of a civil court and is binding
on all parties.

How many of the above statement are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

www.nextias.com
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F Tt feAfafed § 9 fea gusa afufa
1 WS o % U6 el 872

1. Yrekhed |ffd

2.  HESH IUHH QHEfd

3. fauria w9 9 defug cemdt afafaar

= feu TT Fe w1 TE w gE W A

(a) Had 1

(b) hee 2 3R 3

(c) hee 1 3R 3

d 1,2 33

TRa § o fraten o % ufdmm @

ey o freAfafed womi W foar &1

1. Y 59 i 3TEfed areRad el &t
% & 1976 9 fEer )

2. oAfqw afeEfu= gfsran afefias erfyafem,
2002 & STTIR & g R

3. T WK &l sHEen fEE st
% fau of@ & & faw 2026 & 9
TEell SIIUAT & YRR eh  UREMEA
i Tk < TR

T fRu T FweA ° § fra 9§72
(a) “hed TH
(b) Had
(c) gt T
(d) =g &l

aRa H gt fo wwor & g o, frefafeaa

Fol W faER wife;

1. SHifae® g@l @l 20,000 €93 € 31
% |t ARl H s €9 9
Hfd T e 2

2. X AfufEd 1961 ® dd, U
TSR T ST AR § TH I i
% U selder@ 2= (Electoral Trust)
T Gehal B

3. e ot RO A Ak IS AT F
2.5% 9 oIfgew fHdt THifas T i
TH T L Tl B

10.

11.

(6-A)

ST fGu U fha wem wet €2
(a) e TH
(b) wad A
(c) @t I
(d) =i &

‘e fRu WM @ erfueR’ 9Ra @R fawe
TR W 9EY % food W@ ?1 3@ Hed o
frefafaa woAl w faer wifsu:

1. ‘9qan fgu W @1 iR’ =Afwal
T T 3R AR S2ed 9§ SAf®
SHH B2 T STUY HH ki AN
T 2

2. fefSea =afema 2o wwwm eifufaam
2023 '9Jen fRu 9H & IR &l T
e AR oA 2

ST XU T e | W A A W #e?
(a) Had 1

(b) Had 2

(c) 1 3R 2 <+

(d) Fd1 A2

T W ARG AGTS R Hresieh
SfyeiE & faars I=mER & AW &t
S & fou sifRfie 22

(a) YadA faeeme™

(b) 9Ra & TrEseh iR Heran Ters
(c) @ HEIaaH

(d) HET TARar A=

frefafga & @ ®F @ ®HUF A5a g w6

a9 37=s] U HLl 272

(a) 9f S TWHR & @i § 2 3R H
ey Sevdl & fau WYy wdt W
ST 2

(b) ffr <t o T weene gy strEfien
foerm & fou fsit =afwal sl 9g= &)
St 2

(c) 9 ST WHER & @iffa # T 3R
fafren @R o= Sevdl & fog
AR G T Gt GY B S R

(d) &R & @ha ¥ gt s fafa=
wRon 9 o wifeent 9 el =t
T B wehdl 7, iR o wg W fen
S Gehdl ©, 1 HeSieh aRErse &

feru suam foran s Sehar 2
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Union Minister is not eligible to become

a member of which of the Parliamentary

committees?

1. Estimates Committee

2. Committee on Public Undertakings

3. Departmentally-Related
Committees

Standing

Select the correct answer using the codes
given below:

(a) 1only

(b) 2and3 only

(¢) 1and3 only

(d 1,2and3

With reference to the delimitation of
Parliamentary in India,
consider the following statements:

1.  The total number of Lok Sabha seats
alloted to each state has been frozen
since 1976.

2. The last delimitation exercise was done
as per the Delimitation Act, 2002.

3.  Delimitation

constituencies

exercise has been
frozen till the publishing of the first
census after 2026 to motivate State
Governments for population control
measures.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to electoral funding in India,

consider the following statements:

1. Political parties are required to
publically declare all contributions
more than Rs 20,000.

2. Under Income Tax Act 1961, a political
party can form Electoral Trust to
recieve donations on its behalf.

3. A company can not donate more than
2.5% of its annual net profits to a
political party.

10.

11.

(7-A)

How many of the statements given above
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

The "Right to be Forgotten" has been a

subject of debate in India and globally.

Consider the following statements in this

context:

1. The Right to be Forgotten allows
individuals to request the removal
of personal information from search
engines and online databases.

2. Digital Personal Data Protection Act
2023 makes Right to be Forgotten as a
statutory right.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Which statutory/constitutional body is

mandated to investigate allegations of

corruption against public officials?

(a) Enforcement Directorate

(b) Comptroller and Auditor General of
India

(c) Controller General of Accounts

(d) Central Vigilance Commission

Which of the following statements best

describes Nazool land?

(a) Land owned and directly farmed by the
government for agricultural research
purposes.

(b) Land granted by the Panchayati Raj
institutions to private individuals for
industrial development.

(c) Land owned and directly farmed by
the government for opium poppy for
medical and scientific purposes

(d) Land owned by the government that
may have been acquired from private
owners for various reasons, and may
be leased, or used for public projects.

www.nextias.com
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frafafag w foar =1

1. Helfed e 3 SRl & SR
T TH HA I T H

2. Y= A A Tod a9 feuda
o fefu T et B dehrel e @
e feam

3. Hated =Emed | UieRE AR &
Y ST &% HROT YA TE T

aXd & Gfagm & =83 142 g Y'H
w1 T A & d8d SR KU T wraf
q®HHE A AR R?

(a) A 1

(b) Had 2

(c) whered 2 3R 3

d 1,2, 33

frefafaa & o wF @ wfafafa e

Tfafafean (Teswum) efuafeE (Fude) &

FTAR TRTA Mfafafer & qfamn & a&d

T Tl At B2

(a) YRA &1 Tl & H Gl

(b) TSR HaTST I AMEd HEA

(c) UGy STdhasl HTed w1 THA
Easil

(d) wufa &t afd gem ot foie gee|

aRd H T W@’ & YR % ged o

frfafed wol | faar #1:

-1

Ife ToF WHR 9 TR $1 R0 2 al
3% HE N w0 oH & fau w5+ genfd
I T BT

hT-11:

‘T H WESIHE B IR & G i
et g St TR o R

T T # AT W, FretefE § 4w

1 TH HE 7?

(a) HEE-1 3R HeA-1I SHI T& & 3R
FeA-11 HeF-1 & oy e wsdieon @

15.

16.

(8-A)

(b) FUA-1 N weF-11 A e & 3R
FHoA-11 HoA-1 % foau T&t Tq<ranio
& 2

(c) FA-1 TE € oiferd weA-11 e 2

(Y E BRI RN 2 fehe sweM-11 Tel 2

=Iel T i S FfadT & 9R ¥ f=Afafad

FHUAl W fo=m =

1. @& dfaw geH, e R faew @
SRS =sh (e =h) 1 Teiieh B

2. M fIrE % U et srvEnst ® R

3. AU UfaHT 1 9 TEAl 9 S|l
el el T 2

TR fTu U wol § 9@ fray @t 22
(a) “hed TH

(b) Had I

(c) @t =

(d) i T

qRd sfaee & wed o, fAfafaa swem
R foar sifeq:

CXENE

TR T FH1UG 7 Zoae fa8as & Tqefq
T U TEE SO

%q II:

goad foel 7 9RdE At a1 9 =raneie
i A a1 fofest gon & foeg s 1
YA I 1 AfEer T

Sw wmeAl & a) o, Frefated @ 9 ®ib

T TH TE 7

(a) e 1 IR I T T & 3 e 11,
HUF | i FEl AR @

(b) w1 3R 1 I Tl € 3R e 11,
FUA [ H1 TE AR T B

(c) A I T ® ifeh e 11 Tera

(d) H¥F | Tod € lfeh swed 11 TE 2l

www.nextias.com
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Consider the following:
1. The Supreme Court strikes down a law
on the grounds of unconstitutionality.

2. The Supreme Court directs the
immediate release of a prisoner
wrongly detained.

3. The Supreme Court quashes an

election due to the illegal conduct of
the presiding officer.

Which of the above actions fall under
the powers granted by Article 142 of the
Constitution of India?

(a) 1only

(b) 2only

(¢) 2and3 only
(d 1,2,and3

Which of the following activities does not

automatically fall under the definition of

"unlawful activity" as per the Unlawful

Activities (Prevention) Act?

(a) Threatening the economic security of
India.

(b) Disrupting public services.

(¢) Supporting a  banned
organization.

(d) Protests leading to property damage.

terrorist

Consider the following statements with
regard to the state government’s borrowings
in India:

Statement-1:

State government has to obtain the consent
of the Union Government to raise any loan
if they are indebted to the Government of
India.

Statement-I1:

“Public debt of the State” is a subject under
the Concurrent List of the Constitution of
India.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

15.

16.

(9-A)

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect  but
Statement-II is correct

Consider the following statements about

Nataraja sculpture of Chola period:

1. The sculpture symbolises cosmic cycle
of creation, protection and destruction

2. One of the hands of Lord Shiva is in
Abhaymudra.

3.  Theearliest known example of Nataraja
sculpture belongs to the Chola period.

How many of the statements given above
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

With respect to Indian history, consider the
following statements:

Statement-1:

Indian National Congress adopted a

resolution in support of the Ilbert Bill.
Statement-I1:

Ilbert Bill empowered Indian Magistrates
or Sessions Judges to try charges against
European or British subjects.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect  but
Statement-II is correct.

www.nextias.com
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A & H TaferR Sl FAR gR I

Y wifd fean e em frefafea o @

HERTA AT 1 B G GHTHR TofeTo]

Q wafed 22

(a) Hooll T3]

(b) AEA

() T T™

(d) R gEa

Wit IEg SEEdt i foRmemn o

frefafed & ¥ ®F @ Teg 3% 19

IR & f8g GUR eTcieHl i eI 9

e Tl 8?2

(a) Wfgen foran W SR

(b) =fHer Jo=A § T AT

(c) dfk ergmar o favara

(d) <ifq =reEen 1 foig

Rz ofw & aR o FmAfafea wo w

fo=am =ifeu:

1. sH&1 fHE &l =i & SR o
foran = e

. TR ¥ gem Jgar faw) & efear €

3. I WA R MR & Temr o
fafa foal & foaw wfag 2

T U T FweA ¥ fora 9§72

(a) “hed TH

(b) Haa I

(c) @t 9

(d) = Tl

ted Rreee & ar o frefated see ©

fa=m +ifsg

1. I8 AIgH IS Sifdasd fgdg &
fere foght T ot @

2. 3HH! oA @R hia Aaeifd 7 ot off

3. 3EH HEN % gYagd W oEel
fosta =1 Seoi@ 7

Suth wedl | o frad @E ©2

(a) A Th

(b) Haa

21.

22,

23.

(10 - A)

(c) @t I

(d) i T
frfafad weml | fo=sm i
YA I:

TETCHT et 1 heR-U-Teg eeh ¥ FHATd
foram T em

%q II:

TETeHT MET A SR gl ® SRA e

gfeom dfewa &R o Far =i

SwE weAl & a) o, Frefatead § 9wk

T TH HE 7

(a) HUA 1 3R 11 A TE € IR e 11,
e | 1 HEl A B

(b) e 1 3R I 9 HET & 31 e 11,
%A | 1 TE AR e R

(c) HA | TEl ® wifeh e 11 e 2

(d) o | Tod € Wfeh sed 11 el 2

'SR, TR 3R ST 9k e &
TR | U% Ao, fhas g fomn e en?
(a) F ST A

(b) THALH

(c) =REA

(d) wRsIHA

frefafed woAl | faar sifsu:

1. U 3q AfeeR ugell WRdE T off
et ara ¥ fafewr smom &1 afera
w9 9 fauy foeam em

2. T G STReR Wi AHehTeN off|
T 3TEdr W1 e 7 1857 & famie H
arr fer=n e

Sw fGu MU fehdn weH wEl B2
(a) oA Th
(b) wad
(c) =t =
(d) =g &l
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Recently Gwalior was declared "City
of Music" by UNESCO. Which of the
following musicians of medieval India
belong to the Gwalior region?

(a) Mulla Daud

(b) Tansen

(¢) Purandara Dasa

(d) Amir Khusrau

Which of the following aspects of Swami

Dayanand Saraswati's ideology places him

outside the mainstream of 19th-century

Hindu reform movements?

(a) Emphasis on female education

(b) Advocacy of the vernacular in religious
discourse

(c) Belief in Vedic infallibility

(d) Opposition to the caste system

Consider the following statements about

VeerabhadraTemple:
1. It was built under the patronage of
Eastern Chalukyas

2. The presiding diety in the temple is an
incarnation of Vishnu

3. It is famous for its mural paintings
depicting illustrations from Ramayana
and Mahabharata.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements about

Aihole inscription

1. It is an eulogy written for Chalukyan
King Kirtivarman II

2. It was composed by Ravikirti, the court
poet

3. It mentions Chalukyan victory over
Harshavardhana of Kannauj.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

21.

22,

23.

(1M1 -A)

(c) All three
(d) None

Consider the following statements:
Statement-1:

Mahatma Gandhi was awarded Kaiser-i-
Hind Medal.

Statement-11:

Mahatma Gandhi served in Natal Indian
Medical Corps during Boer Wars.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is
Statement-II is correct.

incorrect but

Amuktamalyada, an epic poem about
Ranganayaka and his devotee Andal was
written by

(a) Krishna Deva Raya

(b) Harshavardhana

(c) Harisena

(d) Mahendravarman I

Consider the following statements:

1. Rani Velu Nachiyar was the first Indian
queen who actively opposed the British
rule in India.

2. Rani Durgavati was a contemporary of
Akbar.

3. Rani Avanti Bai Lodhi participated in
Revolt of 1857

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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29.

30.

31.

32.
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With reference to Medieval India Salher,
Gingee, Panhala were well known as

(a) Centres of Trade

(b) Centres of textile production

(c) Buddhist shrines

(d) Forts

Consider the following statements

1. Rama's coronation is a prominent
theme in Tanjore School of painting

2. The famous painter Sahibdin belonged
to Kangra School

3. Tamasha paintings, representing court
and city scenes, are popular examples
of Mewar school.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to medieval India, Battle of

Khanwa was fought between:

(a) Prithviraj Chauhan and Mohammad
Ghori

(b) Jayachandra and Mahmud of Ghazni

(c) Rana Sanga and Babur

(d) Sher Shah Suri and Humayun

With reference to Cabinet Mission Plan,
which of the following statements is not
correct?

(a) It provided for constituent assembly
partly elected by members provincial
assemblies and partly nominated by
princely states.

(b) It proposed an executive council with
equal representation to Hindus and
Muslims.

(c) It rejected the demand for a sovereign
Pakistan.

(d) Tt provided for a three tier executive
and legislature.

With reference to Indian history, the term
Skandhavaras refers to

(a) Bonded Labour

(b) Military Camps

29.

30.

31.

32.

(13 - A)

(c) Areligious sect
(d) Temple architects

The architecture of the Qutb Complex
reflects a blend of which of the following
influences?

(a) Hindu, Jain, and Islamic styles

(b) Islamic, Hindu, and European styles
(c) Buddhist, Chinese, and Islamic styles
(d) Chola, Vijayanagara, and Rajput styles

Consider the following statements:

1. The Mahanadi river passes through
the states of Chhattisgarh, Odisha and
West Bengal.

2. Narmada river is bounded by the
Vindhyas on the north, by the Maikala
range on the east.

3. The upper reaches of the Godavari
river is occupied by the Cuddapah and
Vindhyan sediments.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Neodymium and Praseodymium, often seen
in news, are rich sources of:

(a) Oxides of Iron ores

(b) Polymetallic nodules

(c) Rare earth elements

(d) Oxides of Titanium ores

With reference to the different layers of the
Sun, consider the following pairs:
Sun’s Layer  Characteristic
1.  Photosphere Outermost layer
2. Core Site of nuclear fusion
3. Corona Usually not
through naked eye

visible

How many of the above pairs are correct ?
(a) Only one pair

(b) Only two pairs

(c) All three pairs

(d) None
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33. With reference to temperature of ocean | 36. Consider the following statements:
waters, consider the following statements: Statement-1:
Statement I: The Equator receives comparatively less
The temperature of ocean water steadily insolation than the tropics.
declines with increasing depth. Statement-IT:
Statement IL. ' ' A sizable portion of incoming solar
The amount of sunlight reduces with radiation is lost while passing through the
increasing depth of the ocean. atmosphere due to absorption by clouds.
Which one of the following is correct in Which one of the following is correct in
respect of the above statements? .
respect of the above statements:
(a) Both Statement-I and Statement-II are
. (a) Both Statement-I and Statement-II are
correct and Statement-II is the correct )
. correct and Statement-II is the correct
explanation for Statement-I. lanation for S |
(b) Both Statement-I and Statement-II are explanation for Statement-1.
correct and Statement-II is not the (b) Both Statement-I and Sta.tement-H
correct explanation for Statement-I. are correct and Statement-II is not the
(c) Statement-I is correct but Statement-II correct explanation for Statement-1.
is incorrect. (c) Statement-I is correct but Statement-II
(d) Statement-I is incorrect  but is incorrect.
Statement-I1 is correct (d) Statement-I 1S incorrect but
34.  With reference to the Northeastern Hills of Statement-IT is correct.
India, consider the following statements: 37. Which one of the following countries is not
1. Patkai Bum Hill is merged into Barail a part of the Nile River Basin?
Range. (a) Zambia
2. Garo, Khasi and Jaintia Hills lie to the (b) Burundi
north of the Barail Range. (¢) Rwanda
3. Barail range separates the Brahmaputra (d) Uganda
and Barak river basins. _ )
) 38.  Consider the following statements:
How man;; of the statements given above 1.  The focus of an earthquake is the point
are correct: within the Earth where the seismic
(a) Onlyone .
(b) Only two waves originate.
(c) All three 2. The epicenter of an earthquake is the
(d) None point on the Earth's surface directly
above the focus.
35. Consider the following phenomena:

©Copyrightt NEXT IAS

1. Arctic Warming
2. Subtropical Westerly Jet Stream
3. North Atlantic Oscillation

How many of the above affect the winter
precipitation in northwest India?

(a) Only one

(b) Only two

(c) All three

(d) None

(15 - A)

3. The Richter scale is a logarithmic scale
used to measure the magnitude of
earthquakes.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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43.

44.

(16 - A)
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The Red Sea is red primarily due to:

(a) A type of blue-green algae called
Trichodesmium erythracum

(b) Scattering caused by sea surface water

molecules

(c) Refraction of light at the air-water
surface

(d) High concentration of iron oxide in the
water.

Recently, the West Coast of North America

witnessed life-threatening storms primarily

related to Atmospheric rivers. In this
context, consider the following statements
regarding the Atmospheric rivers:

1.  Atmospheric rivers are long, narrow
corridors of concentrated water vapor
transport.

2. Most atmospheric rivers are weak
systems that often provide beneficial
rain or snow.

3. Atmospheric rivers primarily occur
during summer of the respective
hemisphere

Select the correct answer using the code
given below:

(a) 1only

(b) 1and?2 only

(c) 2and3 only

(d) 1,2and3 only

In a recent rare event, a specific type
of aurora was observed by the Indian
Astronomical Observatory in Ladakh. The
color of the Aurora was very different from
the Auroras observed at high Ilatitudes.
Which of the following is the observed type
of aurora?

(a) Diffuse pink aurora

(b) Blue Aurora

(c) Stable Auroral Red Arc

(d) Pulsating Aurora

If two tropical cyclones are undergoing the

Fujiwhara effect, Which of the following

outcomes is not possible?

(a) One cyclone intensifies while the other
weakens.

43.

44.

(17 - A)

(b) Both cyclones spin each other around
for a while before shooting off on their
own paths

(c) One cyclone becoming stationary
while the other rapidly increases in
speed.

(d) The cyclones maintain their individual
identities and rotate around a common
point.

The term Brain-computer interface, often
seen in the news, is related to which of the
following?

(@) A method of enhancing computer
processing power using biological
neural networks.

(b) A computer program designed to
analyze brain activity and interpret
thoughts.

(c) A type of virtual reality headset that
stimulates brain activity for immersive
experiences.

(d) A technology that
communication between the brain and

allows direct

an external device.

With reference to Nipah virus, consider the
following statements:

Statement I:

Nipah virus does not spread as quickly
as the Covid-19 virus, but it has a higher
fatality rate.

Statement II:

It spreads from animals to humans, but its
direct transmission between humans is not
yet recorded.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I.

www.nextias.com



1cﬁU]S]’TWTSSEHGeneraIStudies(Paper-l) NEXTIAS
(c) o 1 T T AT FoF 11 e 81 | 47. e W smsefefrave (emuwensel)
(d) e 1 e € Wi e 11 Wl 2 qehIR & ergArT & g o, fefatea
c. s . R fo=r wifs:
45. q@ﬁ@waﬁﬁmﬁr@a¢ﬁwﬁaﬂ | e ¥ 1 T S
T8 2. TEEiferd o & yomedt
FU9 I: 3. TR W Ufhee Hew HSHl
4, TSERT W A A H TR
3 B STRWITaE: Fu1 7§ 92 1R ‘9 . .
e ’ 5 SWIE o § feha RFID Waifieht & gofaa
F ( qifidshed) ' el S &l %
Fd 11: (a) HIA Th
TR [ AT 3R T R-HINR g9 Eb; E:;
C
TR UEHHAl 9gd q¥ehe S 2 @ s w
IwE Horll B o H, frefated 9 B | g5 frefate s w R S
quﬁv\qg"]%\? % I:
(a) ¥ [ SR I A1 Tt & SR e 11, P (First
FU I H e criticality) &1 Tk @ et FR®
(b) e I SR 1T <FT Wl & iR e 11, ] foges wfdfswan & URY & Tk 2
FA | 1 TEl e 71 R o 11
(c) T | W & WAt For 11 e 2 Fifqehal W, fo@ed 9 30+ =i &
(d) A | o € Wi %A 11 Wl 2 den fge # #Ro @iy Toege st
46. T B H, TEAA-3 T B EON gF W Ten ¥ s g S 2
TR T & o vgell faeE &= e SR FuA F aR H, Frfafted § @ w9
=5 ® A ga 1 N e 82 T HE 2 o
1. =W W A &0 (1 3Ed) &t qo™ (&) o[ SR I I T T R T IL
‘ s Fo [ 1 TE AR B
] Higdl 39 el e % 0 2 (b) ®eF I 3R 11 <A1 Tt & SN e 11,
2. <ol e o wrEl w9 @ DREER & %A | H1 TE AR T 2
¢ o i |9R ded w1 Sard (c) FU 1 Tl T Afepa Fer 11 Terd 2
fenie 2 (d) ®oF I Tad & AfeRd oA 11 9 2
(@) 9 1 (a) T T AIHE TGHL
(b) w2 (b) U I FH I TR
T & T[Sl I AgHT
(c) 1 &2 <+ © o '

©Copyright: MEXT IAS

(d) T 1 AT 2

(18 — A)

(d) TH IIHERS (emulsifier) & ®9 H
EaRicacy

www.nextias.com



NEXT IAS

‘én[i%ﬁ‘é?-iBﬁz | AllIndia Open Mock Test-3

45.

46.

©Copyrightt NEXT IAS

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is incorrect Statement-II is
correct.

Consider the following statements regarding
the neutrinos:

Statement I:

They are tiny subatomic particles often
called as ‘ghost particles’.

Statement I1:

Their zero charge and almost non-existent
mass makes it very difficult to detect them.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-1.

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-1 is correct but Statement-II
1s incorrect.

(d) Statement-I is incorrect Statement-II is
correct.

Recently, Chandrayaan-3 became the first

mission to make a soft landing on the

moon's south pole. What is the significance

of the lunar south pole?

1. Highest known concentration of water
ice on the moon is near its south pole.

2. South pole has permanently shadowed
regions containing a fossil record of
the early Solar System.

Select the correct answer using the code
given below:

(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

47.

48.

49.

(19 - A)

With reference to the applications of the

Radio Frequency Identification (RFID)

technology, consider the following:

1.  Detection of counterfeit products

2. Automatic Train Protection system

3.  Sending encrypted messages
internet

over

4. Monitoring toll payments on highways.

How many of the above are possible
applications of RFID technology?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements
Statement I:

“First criticality” moment of a nuclear
power plant signifies the start of a controlled
and a sustained nuclear fission reaction.

Statement I1:

At criticality, the number of neutrons
produced by fission becomes greater than
the number of neutrons lost due leakage.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
1s incorrect

(d) Statement-I is
Statement-II is correct.

incorrect but

How does soap remove grease and oil from
dirty dishes?

(a) By increasing the water temperature
(b) By making the water less dense

(c) By breaking down grease molecules
(d) By acting as an emulsifier
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(d) ®rEneEl ol Hiesd AR T qdl . (HAPS) RLEES
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51. fagdiea wod WA TwaG & Hsd ¥, (a) TACHEE HH TR F BT SA(H
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L %Wﬁgwfﬁﬁéw (b) TR H G ¥ TAThTE W o
2. o e R AeAl 1 g | 3o FA AR [ T FA A
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3. W U  giqedd H HE8 W - ;
EM € W A 20% W AHE B o q?wg%@%
wsAte fasm & R W SeAW wie (d) TETHTE aea | fem B1 T iR
1 ST FH F HaH 2 ST & SN HOR § Heg Y Thd 2|
4. € IS Toiiagsh oed HiE | =l Wehdl 8 SENPU R
. 55. TR ThAMEIX g (SKAO)
ST feu U fohan wem we 2
(a) HaIA ThH wfas: IR @l ¥ ¥ Uk Sene &
(b) wad sfoerd # U erafy &1 wiw wen § e
EZ)) j;ﬁai? Fifs® B (Cosmic Dawn) & &9 | ST
52. frAfafed § 9 fF9 998 =t FER 37 I Wélfq—g W%f[ W%W%
FERE (KFDV) 3 fou wefias ser deam (a) W wEe 92 TR W <AF T
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(c) e weh T et off
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53, fmAfafed &1 CAR-T 9 &R@t & ¥ 1 hIq(Th IHA
. CAR-T Ucli *1 e19al &1 wh @il ¢ | 56. fr=fafad & @ «F @1 w3 geat fagm
TS W Afed w0 % T " (PI;ITHVI)W@%EQTWW
2. TR & TR CAR-T ¥ IEfET 5N TSrE 772 ‘
sih-ere gE 3 SfEd F =9 FE (a) fomm R Srenfirnt warer
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3. 39 AN Rl AU HEAT TSR ST
HE HIYHT GiNen MHAT ¥ w1
% fau w4 ©

(20 - A)

(b) Tt fagm dae™
(c) Toram wameT™
(d) =T faem IR s oo™
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Which of the following best describes the

objective of the Government of India's

recently developed Artificial Intelligence-

based facial recognition tool called ASTR?

(a) Assisting the law enforcement agencies

(b) Improving the accuracy of Aadhaar
Based Biometric Authentication

(c) For verifying student identities during
online entrance exams

(d) Detecting fraudulent
connections

mobile

With reference to the Electrified flex fuel

vehicles, consider the following statements:

1. It is powered by both Internal
combustion engine and an electric
powertrain.

2. It has higher fuel efficiency than flex
fuel vehicles.

3. It can help in greater substitution
of petrol by Ethanol as it is capable
of using any of the higher blends of
ethanol mix beyond 20%.

4.  Itcanrun in pure electric vehicle mode.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

Which of the following groups is considered
the primary reservoir host for the Kyasanur
Forest Disease Virus (KFDV)?

(a) Pink Fairy Armadillo

(b) Fruit bats

(c) Migratory birds

(d) Hard ticks

Consider the following with regard to the
objectives of recent research combining
CAR-T cell therapy with CRISPR/Cas9

technology:
1.  Enhancing the ability of CAR-T cells to

target multiple antigens simultaneously
2. Reducing the risk of off-target effects by
CAR-T cell binding outside the tumor
3. Suppressing pathways that cancer cells

use to evade immune attack

54.

Ss.

56.

(21 -A)

How many of the objectives given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following is not a key feature

of High-altitude pseudo-satellite (HAPS)

vehicles?

(a) HAPS offer more precise surveillance
capabilities due to their lower altitude.

(b) HAPS are easier to launch and retrieve
compared to satellites.

(c) HAPS

environmental impact due to reliance

systems have a lower
on solar power.

(d) HAPS are located in troposphere and
can help in communication during

disaster.

One of the primary scientific goals of

the Square Kilometre Array Observatry

(SKAO) is to investigate a period in the

universe's history known as the Cosmic

Dawn. This period refers to:

(a) The formation of massive black holes
in the early universe

(b) The time when the first stars and
galaxies began to form

(c¢) The hypothetical emergence of life on
planets outside our solar system

(d) The period immediately following the
Big Bang

Which of the following ministries is the

primary implementing agency for the

PRITHvi Vigyan (PRITHVI) Scheme?

(a) Ministry of Science and technology

(b) Ministry of Earth science

(¢) Ministry of Education

(d) Ministry of Skill Development and
Entrepreneurship
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qeT-Teh R (AR-AEfha IRSRI)

# g ® gasg  yeiiad  drenfirent

(Ao peE ToHeATsl) w1 qrefis

oy Frefafaa & @ &iF @ 22

(a) ¥8 faure ergyarm & foau weEl eifus
U AT T HT Fehel 2

(b) HH TSl TAYES & HRU W FAeId
T HIET HH Gl 2l

(c) T afush ol HT@ & SR THH
ieRug gurE %A 2

(d) Ta afaw fesea & &R0 3o
whafaferd s eifus g9 21

frefafega & @ &F 9 oifesa ®ER

W?Wﬁ%:

1. 7% 3=9 defaey WA *a g, oo™
IS WS W 2 % YERO HI STIAM
foerdt 21

2. olfficshal wIEaR H w1 faea g1 gt
g, S oell g0 W HI S HHIE
gffyea & B

3. fog@ gena e ¥ I=9 ghowe

S Ry T fhan wem el €2
(a) “hedl TH
(b) FHaa I
(c) @t dH
(d) = Tl

g B H Y& fhu MU fH wiee gm &

deayg § fmfafad sl w faemr e

1. % Wifess qaferviia %l 1 dedfsd
FE & foU T IR | 97 2

2. 1 wfee safemal it wufwEl <4 g
sifta feran 1 Hehan 2

3. ogfed aiffas S% @ %O W@
FH & fau 9 wfee w1 gulyds
(collateral) & ®9 H 3yAm foam <
EET

Sw feu U fohan wem we 2
(a) “hed TH
(b) wad q
(c) =t I
(d) =g &

60.

61.

62.

(22 -A)

I WEHR & 5 B & A A fFA T
Ifen Tiee & wed H, frefafaa wu
fo=mr wifsa:

1. I8 Wueh d@ll o ¥ad &l 9gH & fag

JIFT HT HIET H1 STAT F B

2. THH 3e¥d gt ¥ "W 1w
T H 2

3. IE U d WEEd ol dqfed w &
fau gfen =1 AgeeE STEn e H
%Y Al 2

ST § ¥ fordd Hed Tl 272

(a) el TH

(b) Had I

(c) 9t o=

(d) =i &

“Hefera e Teammren weigal W fm 2R
TASITE AYARTY, 1At TSiia et a=asiia
AR AR TeAl  FRITEH TS
HYARTT HLferd & o1 Fmior e ®1 Foom
T 39 T &9 W ee] Terdt 21

ISRk e Fefafed 4 9 fee gifem

&5 1 aU Hl B2

(a) HHHTTH o8 SHIRTY

(b) Gl TER o

(c) TREMA aTH STTIRTA

(d) ANTITENR-Sidem 2R e

aRa # fem dgsl & ew waem & wad H,

fr=fafaa oAt m fa=r sifsa:

. o 9Rd & U= SR WY & g
femrert TSEi/s wifed Weel W oUl@
SRl

2. 9N ¥ T S fem dgu @R #

I 6T T weA W @ S @ oHel @2

(a) Had 1

(b) ®ad 2

(c) 1 @R 2 <=

(d T 1AL 2
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Which of the following is the primary

advantage of magnetic refrigeration

technology over vapor-cycle refrigeration?

(a) Itcanachieve much lower temperatures
for specialized applications.

(b) It is significantly less expensive to
operate due to lower energy input.

(c) Itis more energy eficient and has lower
environmental impact.

(d) It has greater potential for scalability
due to simpler mechanical design.

Which of the following are advantages of

optical fiber cable:

1. It offers high bandwidth, allowing for
the transmission of large amounts of
data.

2. Optical fibers have low signal loss,
ensuring efficient data transmission
over long distances.

3.  High immunity to electromagnetic
interference

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements with
respect to the recently launched Green
Credit Program:

1. It is a market-based mechanism to
incentivize voluntary environmental
actions.

2. Green credits can be earned by both
individuals and companies.

3. Green credits can be used as collateral
for getting a loan from a scheduled
commercial bank.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

60.

61.

62.

(23 - A)

With reference to the Urea Gold recently

launched by the Government of India,

consider the following statements:

1. It uses the coating of nanoparticles to
increase nutrient intake.

2. It aims to address sulphur deficiency
in soil.

3. Itreduces the nitrogen use efficiency of
urea for balancing the nutrient profile.

How many of the above statement(s) is/are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

"The protected area is located in the
Nallamala hill Two wildlife
Sanctuaries, namely Rajiv Gandhi Wildlife

ranges.

Sanctuary and Gundla Brahmeswaram
Wildlife Sanctuary constitute the protected
area.The river Krishna traverses through
this protected area.”

The above paragraph describes which of
the following protected areas?

(a) Sathyamangalam tiger reserve

(b) Sunabeda Tiger Reserve.

(c) Nagarhole tiger reserve

(d) Nagarjunsagar-Srisailam Tiger Reserve

In the context of the first ever survey of snow

leopards in India, consider the following

statements:

1. They are found in western as well as
eastern Himalayan states/UTs of India.

2. Ladakh has the highest number of
snow leopards in India.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2
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(b) Had
w1 1 () ®ad A
AR FHI A TSIV H TF TS Hhaw (d) T =R
A S 2 66. frafafEd ol W faEr Fifa:
Fo 11 1. @R U & TR a1 & wead a8
' gy 2
gk o fEer &1 SR R T a1 o 2. @R UM w1 WRTSS had et
ol &E % WY Sigl S 2l T SEM 3R HeqM 3R Feper g9
a%"wi,s‘f;j@qﬁqm“ﬁ% ST ol 3. g%m@% # [UCN ©
’ fae 4 quua & €9 § gHAEs
(a) -1 3?'( -1 Q‘T‘_‘ﬁ '{Tiﬁ % 3?'? 'ﬁ;q’[q‘q‘[ %\|
FUA-11 Fo-1 & foIU T& e&ie © . .
ISE | ?
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Tl TR 9N % Wihfde Y e
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With reference to the lichens, consider the
following statements:

Statement I

Lichens are considered as a good indicator
of air pollution.

Statement 11

Lichen blooms are usually associated with
areas having poor air quality.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but
Statement-II is correct.

Consider the following biomass:
1. Sugarcane juice

2. B- heavy Molasses

3. C- heavy Molasses

How many of the above can be used to
produce ethanol as per the National Biofuel
Policy 2018.

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the Coal gasification,

consider the following statements:

1. Coal gasification is the process of
converting solid coal into synthetic
gas.

2. Methane is the largest component of
synthetic gas.

3. Coal gasification can help in reducing
natural gas imports of India.

4.  Government of India has set a target
to achieve coal gasification of 100
Million Tonne by 2030.

66.

67.

68.

(25 - A)

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

Consider the following statements :

1. The saltwater crocodile is the largest
reptile in the world.

2. The saltwater crocodile is found only
in Bhitarkanika national park and
Andaman & Nicobar Islands.

3. The saltwater crocodile is listed as
"Endangered" on the IUCN Red List.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following states has declared
Ghol fish as its state fish?

(a) Gujarat

(b) Odisha

(c) Assam

(d) Andhra Pradesh

Consider the following statements regarding
the Water (Prevention and Control of
Pollution) Amendment Act, 2024:

1. It empowers the Centre to frame rules
to select the chairpersons of State
Pollution Control Boards.

2. Provisions of imprisonment have been
added for several offences which were
earlier neglected as being “minor”.

3. Amended version of the Act will be
implemented in a phased manner
starting with the states covered under
the Namami Gange program.

How many of the above statements are
correct?
(a) Only one

(b) Only two
(c) All three
(d) None

www.nextias.com



’énljﬁhﬁv-iﬁiz | General Studies (Paper-l)

NEXT IAS

69.

70.

71.

©Copyrightt: NEXT IARAS

frafafea oA w fa=mr Sifsu:
5T 1:

3 ATy & UG T a1 SR STHAR
W AHR A 9S B

T I1:

I Siel H GdE &ABA-H-AFA ST
B Sal 1 qer § wH Bl Bl

Iute weMl & R o, frefafed § 9 e

1 TH T 7?

(a) A 1 SR 11 S Te € 3R wer 11,
FUA [ FE A 2

(b) A 1 SR 11 S Te € 3R wer 11,
HF | &1 TE A T R

(c) oA | WEl B wifeh e 11 Terd 2

(d) HeH 1 Terd © ifehd weA 11 F&l 2

T T fove weTe Rt R s

AfYas Ja9 % qed Tk UEd B2

(a) STeery Red W URE wwHgia

(b) oy UREMd W EHIH T HHAD
FHATH

(c) uRfeafqert a3 @@ell W 9gw T
TH

(d) Sifaer fafasd ® HaAvH

YA yefadal W SAEHE (FEIH 3T

el wivie) & qed afifeafan Ao

sEyron URuRe Hifea e gfteswior 9

fore yehR f=t 22

(a) 9T W@ WSl o H&T0T i Jreffhehdl
T 2l

b)) T® e T« ¥ ® g3 o
ARl W wika 2

(c) TE®I dmRed & di@ gl AFaE
TfafafeEi o afesRr sTavaes Bl

(d) =& a9t Hiequg w8 M WAL
®9 W aEgEN B

72.

73.

74.
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frfafea wot | foar wifaw:

E2E K

e are H G ST W uE S ared!

FHI TIRAT & IS Th SAA@E G0 A1

fre-gaed T 3w el g 2

Yd I1:

giel Wl § Uh Sfywrel SiA sl @ S

I Totenan (Trdsm) ot gt s €|

Sw wmeAl & a) o, Frefated °§ 9wk

1 UH HET 7

(a) e 1 3R 11 T4 Fel & 31 e 1,
FUA | B TE AR 2

(b) ¥ I IR II T Tt & 3R e 11,
HUA | 1 TE AR e R

(c) HUA 1 TEl ® wifeh e 1] e 2

(d) %o | Teid € iR e 11 el 2

Teohel q SR HI MUET % HeH H,
frfafad agf | faur Hifsw:

1. W &1 qAfcHa

2. HHIS L& ar|

3. faftre anftfer e w8 fafa

4. eI 5t fafafeEt

STWE § 9 fohad &l sTefeewen & d&ha
e IR HT MO H wnfhet fmer s @7
(a) e TH

(b) waa =

(c) Had dH

(d) wf =W

B € W, I o de 7 fefiea sur
(Digital Lending) & fau wem =7 ==
M (WE dfg fewlee M) HEHA HI
TS < STERT A YA B

(a) MK IS SUNehdl g w1 @ al fthiceh
IEHH SRR Sl JHaH & Th e

w1 afagfd s
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Consider the following statements:
Statement 1:

Animals living near colder climates are
generally bigger in size.

Statement I1I:

Larger organisms have smaller surface area-
to-volume ratio than smaller organisms.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I s
Statement-II is correct.

incorrect but

The UN World Restoration Flagship is an
initiative under which broader global effort?
(a) The Paris Agreement on Climate

Change

(b) The UN Framework Convention on
Climate Change

(c) The UN Decade on Ecosystem
Restoration

(d) The Convention on Biological

Diversity

The "Ecological Networks" approach under

Convention on Migratory Species (CMS)

differs from the traditional protected area

approach in that it:

(a) Prioritizes the conservation of flagship
species

(b) Focuses on connectivity across
landscapes beyond designated sites

(c) Requires the exclusion of all human
activities within its boundaries

(d) Is legally binding on all CMS member

states

72.

73.

74.

(27 - A)

Consider the following statements:
Statement I:

Golden tigers have a unique blonde or pale-
golden color and reddish stripes instead of
the black stripes found on normal tigers.

Statement 11:

Golden tigers have a recessive gene that
affects their pigmentation.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is
Statement-II is correct.

incorrect but

With reference to the calculation of

Gross Domestic Product, considering the

following items:

1. Resale of goods

2. Social security benefits

3.  Exports from Exclusive Economic
Zones

4.  Black-market activities

How many of the above are included in the
calculation of Gross Domestic Product of
an economy?

(a) Onlyone

(b) Only two

(¢) Only three

(d) All four

Recently, the Reserve Bank of India

approved the First Loss Default Guarantee

(FLDG) programme for digital lending.

What will be its implication?

(a) Fintech platform will compensate
the lender for a portion of losses if a
borrower defaults.
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(b) A% IS SRk b T &l U
fthTesh wiehid &l JHAH & Th 6
&1 afagfd s

(c) w1 R wfee TRA frm
(STeTmEHsidr) fewlee & Ama o
SRUTRTAT ohl ST &9 § &faqfd Ham|

(d) fewlee & #ma o Slemdsigr
fFidh wEwH &I T w9 |
afagfd =4

i o farell geemm faw (FII) iR geet
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1. FI st som & faw & ghd @
ifeh &1 aR § &1

2. fodl 9RdE & & WA dgFH T
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AT ST

3. TaEa feuffwed f&fle® (GDR) @i
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S KU T e wed el €2

(a) oA TH

(b) wad

(c) @+t d=
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(b) W™ & 5 Gt ¥ e A 7 3R
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(c) R-gefiag wua dA 3fad ™R
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(d) Tageft el &1 IR I & 9
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%a e wAar (PPP) fafwa X & wag o

frefafad oAl | faer wifs:

YA I:

Tt fafrae = < < F S Sied 'R
F g HE § TR HAl B
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79.
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YA 11:

dddt fafa=r <o o aegen ok Fare i

grder HOdl H A H W@ 2

Sw® wmeAl & ) o, Frefafed § @ wib

T TF T B2

(a) U1 3R 11 A W& € IR e 11,
FOF [ 1 TE AR B

(b) e I 3R 11 9 HET & 31 e 11,
Fo [ 1 TE AR & T

(c) A | Tl ® wfehe e I Terd 2l

(d) FA I T § oAferd weA 11 Te 2

fefstea T (e3) 2R IferRe THeH T
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TR e Bkl §, Sih eX Wl
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SWE § 9 frad weM Tet 72

(a) “hed TH

(b) =aa

(c) 9t @

(d) =i T
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Aot Hf GfeEEt w1 HH FH T <TG
21 ad wHeH qed (TauEdt) yomet
frefafga & 9 &9 @ guR, fRar
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(b) Lender will compensate the fintech
platform for a portion of losses if a
borrower defaults.

(c) Deposit Insurance and  Credit
Guarantee Corporation (DICGC) will
partially compensate the lender in case
of default.

(d) DICGC will partially compensate the
fintech platform in case of default.

With reference to Foreign Institutional

Investment (FII) and Foreign Direct
Investment (FDI) in India, consider the
following

1. FlIs can invest in the equity market but
not in the debt market.

2. A foreign company forming a joint
venture with an Indian company will
be considered FDI.

3. Global Depository Receipts are
included in FDI.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Angel tax, often seen in the news, is levied
on:

(a) Angel investors providing fund to

start-ups

(b) Startups which are more than 5 years
old and are profitable

(¢) Unlisted companies issuing shares at a
price more than their fair market value

(d) Listed startups issuing shares to the
foreign investors

Consider the following statements with
regard to the Purchasing Power Parity (PPP)
exchange rate:

Statement-1I:

PPP exchange rate helps in comparing the

standards of living between two countries.

78.

79.

(29 - A)

Statement-11:

PPP takes into account the relative prices
of goods and services in different countries.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1.

(c) Statement-I is correct but Statement-II
is incorrect.

(d) Statement-I is
Statement-II is correct.

incorrect but

With reference to the Digital Rupee (e%) and

Unified Payments Interface (UPI), consider

the following statements:

1. el is a token representing legal tender,
whereas UPI is not a legal tender.

2. Both UPI and eX are liabilities of the
Reserve Bank of India.

using the UPI

intermediation of a bank, whereas

3.  Payment requires

payment using e does not.

How many of the above statement(s) is/are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

India faces pressure at the World Trade
Organization (WTO) to reduce its
agricultural subsidies. Which of the
following reforms to the Minimum Support
Price (MSP) system would best align with
its WTO commitments while minimizing
adverse impacts on farmers?
1. Replacing MSP with a deficiency
payment scheme based on market
prices
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83.
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8S.

(30 — A)
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2. Linking MSP
to domestic

calculations solely

input costs without
considering global prices

3. Restricting MSP-based procurement
quantities to levels below domestic
consumption needs

4.  Expanding MSP coverage to export-
oriented agricultural products like

fruits and spices

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Interim Budget 2024-25 has announced
certain Economic Railway Corridors under
the PM GatiShakti. Which of the following
have been included in the list?

1.  Energy, mineral, and cement corridors
2. High traffic density corridors

3. Steel and fertilizer corridor

Select the correct answer using the codes
given below:

(a) 1and?2only

(b) 2and3 only

(¢) 1and3 only

(d 1,2and3

With reference to Indian economy, consider
the following:

1. Reduction in inflation

2. Increase in cost of production

3. Increase in export competitiveness

How many of the above are likely impacts
of depreciation of Rupee on the Indian
economy?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to the payment banks,
consider the following activities:

1. Acceptance of saving deposits

2. Acceptance of fixed deposits

83.

84.

8s.

(31 -A)

3.  Issuance of credit cards
4.  Distribution of financial products like
mutual fund units

How many of the above activities can be
undertaken by a payment bank?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

A Goldilocks economy in India would
likely exhibit the following combination:
(a) High inflation, high unemployment,

and low GDP growth.

(b) Low inflation, low unemployment, and
moderate GDP growth.

(c) High inflation, moderate

unemployment, and high GDP growth.
(d) High GDP growth, low fiscal deficit,

and appreciating rupee.

Consider the following:

1. Lower borrowing cost for the
government

2. Increase in private investment

3. Higher market interest rates

How many of the above can be a likely
consequence of reduced fiscal deficit?
(a) Only one

(b) Only two
(c) All three
(d) None

If in an economy the repo rate is increased
by the central bank and the Wholesale
Price Index (WPI) inflation has showing
a declining trend. Then, which of the
following is the most likely economic
implication?
(a) Cost of borrowing will increase,
potentially slowing down investment.
(b) Consumer Price Index (CPI) will also

decrease in the near future.
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(c) Government's tax revenues will
significantly increase due to higher
prices.

(d) India's exports will become more

competitive in the global market.

Consider the following statements about

off-budget borrowings in India:

1. Off-budget borrowings are loans
that are not directly reflected in the
government's budget documents.

2. These borrowings are used by the
government to finance its expenditures
without affecting the fiscal deficit
directly.

3. Off-budget borrowings do not have
any impact on the country's debt levels.

How many of the above statement(s) is/are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

India's Current Account Deficit (CAD) is

frequently expressed as a percentage. This

percentage is calculated in relation to:

(a) Total size of the Indian economy
(GDP)

(b) Government's annual fiscal deficit

(c) Country's outstanding external debt

(d) Value of India's total imports

Which of the following would likely not
be classified as a Virtual Digital Asset
(VDA) under the current Indian regulatory
framework?

(a) A non-fungible token  (NFT)
representing ownership of digital
artwork.

(b) A utility token offering membership
privileges within a decentralized

gaming platform.

(c) A stablecoin pegged to the value of the
US dollar.

(d) A digital coupon issued by a retailer,
redeemable for online purchases.

89.

90.

91.

92.

93.

(33 - A)

An Indian citizen wants to travel to a non-
Asian country where he can use the Unified
Payments Interface (UPI) based Apps to
make payments. Which of the following
countries would you suggest?

(a) Russia

(b) France

(c¢) Saudi Arabia

(d) Germany

Consider the following countries:
1. United Arab Emirates

2.  Egypt

3. Cameroon

4.  Argentina

5. Ethiopia

How many of the following countries are
part of BRICS ?

(a) Only Two

(b) Only Three

(c) Only Four

(d) All Five

Consider the following statements regarding

the Stop Clock rule in cricket:

1. Once an over is finished, the fielding
team will have to be ready within 60
seconds to bowl the next over.

2. It was first implemented in the ICC
Men's Cricket World Cup 2023.

Select the correct answer using the code
given below:

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Recently, Essequibo river was in news due
to dispute between Venezuela and Guyana.
The river flows into:

(a) Indian Ocean

(b) Pacific Ocean

(c) Atlantic Ocean

(d) Mediterranean Sea

Consider the following:
1. Ayushman Bharat Digital Mission
2. CoWIN portal
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3. Bharat Pe
4.  Government e Marketplace

How many of the above are examples of
India’s Digital public infrastructure?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements with

respect to India-UAE relations:

1. UAE was India's second-largest FDI
contributor for the year 2022-23.

2. The I2U2 grouping includes both India
& UAE.

3. India has signed a Comprehensive
Economic Partnership Agreement as
well as a Bilateral Investment Treaty
with UAE.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

WIth respect to Bharat Ratna awards,

consider the following statements:

. It is in recognition of
exceptional service/performance of
the highest order in any field of human
endeavour.

2. Bharat Ratna Awardees have the same
rank as the Union Cabinet Minister in
the Table of precedence.

awarded

3.  The convention of giving maximum
three awards a year was broken for the
second time in 2024.

4. Abdul Ghaffar Khan was the first non-
Indian to be awarded Bharat Ratna.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

96.

97.

98.

(35 - A)

(c) Only three
(d) All four

With reference to the recently launched

APAAR (Automated Permanent Academic

Registry) 1D,

following statements:

1. It is a unique 12-digit identification
system designed for all students in
India.

2. Itislinked to Digilocker where students
can store all their academic degrees
and certificates.

3. Registration for creating APAAR ID is
voluntary.

Account consider the

How many of the above statements is/are

correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Consider the following statements with
reference to the Maldives and Lakshadweep
islands

1. The Maldives rests on a submerged
volcanic plateau, while Lakshadweep
has a continental origin.

2. The Maldives experiences frequent
earthquakes, while Lakshadweep lies
in a seismically stable zone.

3. The Maldives has a tropical climate,
while Lakshadweep experiences a
more arid climate.

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c¢) All three
(d) None

The NIA (National Investigation Agency)

was created with the primary intention of:

(a) Implementing anti-money laundering
laws and countering counterfeit
currency.
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(b) Conducting investigations of offences
under the Unlawful Activities
(Prevention) Act and other terrorism-
related laws.

(¢) Providing intelligence support for anti-
terror operations across India.

(d) Coordinating border security and
preventing infiltration by terrorists.

Which United National agency is the

UNAIDS Programme Coordinating Board

associated with?

1. United Nations Economic and Social
Council

2. Joint United Nations Programme on
HIV/AIDS

Select the correct answer using the codes
given below:

(a) 1only

(b) 2only

(c) Both1 and2

(d) Neither 1 nor 2

(37 - A)

100. Consider the following statements about

Punganur cows, an indigenous cattle breed

from India:

1. They are one of the smallest breeds of
cattle in the world.

2. This breed originates from the
Punganur region in Andhra Pradesh,
India, and is known for its adaptability
to arid conditions.

3.  They have the highest milk yield
among the indigenous cow breeds of
India.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
EEEE
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